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Test 101-REVIEW 
To receive credit for this review you must show all your work!!  If you only provide the answers, you will not get credit for this review homework.

For #1-#6, Simplify the expressions as completely as possible.
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  7. The perimeter of an isosceles triangle is 44 inches. The length of two of the sides is (4x – 3) and the third side measures x + 5. 
     a) Write an equation that represents the situation in its simplest form.
     b) Solve the equation to find the value of x.

     c) Find the length of each side of this triangle.
For #8 - #12, write an algebraic equation for each of the following situations (solve only number 10): 

	8.  The number of amps (a) in a circuit is the quotient of watts (w) and the voltage (v).

	9.  Fifteen less than three times a number is 15.

	10.  Mark’s grandmother gave him $105 to put in his bank account and told him that she would increase his bank account by $15 every month.  How much money would he have after one and a half years?
12.  The quotient of c and –3 is 12.


	11.  The surface area (s) of a pyramid is half the product of the area of the perimeter (P) and the length (l) plus the area of the base (B).

13.  Find the perimeter of this rectangle:
                                  3(3x - 5)

            2x

Perimeter:


For #14 - #25, solve the following equations.  If the equation has no solution, or if the solution is all real numbers, say so.  Box your answer, and show your work!!  

	  14.  4x – 10 = 2(x + 5)


	15.  -22 = 7a + 6 – 5a 


	16.  9 + n = -21

	17.   2(x + 7) = -26
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	20.   -6t + 5(t – 10) = 10


	21.  7x + 3 – 2x = 5x – 8
	22.  9(b – 3) = 2 + 9b

	23.  4s – 6 – 2s = 2(s – 3)
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For #26 - #33, work the problems presented and give your answers in the space provided.

	26.  If 
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	28. Evaluate –3s + 5, when s = 2


30.  A truck travels at a rate of 75 miles/hour and it takes 3.6 hours to reach his destination.  Find the distance traveled.  (
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32.  Find the perimeter of the following shape.  Give your answer is simplest form.


     B + 3      B


        2B        5
	29.  If t = -8, what is the sum of twice t and –15?

31.  Tanin is building a rectangular garden.  The dimensions of the garden are 8 ft by 4.5 ft.  Find the area of the garden. (A=l w)

33.  The following equation can be used to convert temperatures in Celsius to Fahrenheit:  
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Find the temperature in Fahrenheit when it is 62° Celsius.




34.  For her cellular phone service, Vivian pays $32 a month, plus $0.75 for each minute over the allowed minutes in her plan.  Vivian received a bill for $47 last month.  For how many minutes did she use her phone beyond the allowed minutes?

	A.  Write an equation that models the situation.  Be sure to identify your variables.


	B.  Answer the question (be sure to write your answer in context of the problem … not just a number).
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